7230 TTV Agrotron ->WSXV870200LD50010
Section: LO - ELECTRIC AL SYSTEM Ref: L0.08.6 (2)
HEADLIGHT SUPPORTS

Fig. P/n QTY Name

Notes:
[7230 TTV Agrotron ->WSXV870400LD50010] -> 50280

K9_V8771_41_0-A-002

1 0.019.1328.2/10 2 left hand arm

2 0.019.1336.2 2 left hand arm

6 0.019.1325.0/10 2 cover

7 0.019.1326.0/10 1 shield dx/rh/re

8 0.019.6543.0 1 shield

9 2.0312.103.2 12 screw m 6 p.1 x 14
10 2.0312.122.2 8 screw m 6 p.1x80
11 2.0312.118.2 2 screw m 6 p.1 x 60
12 0.019.1337.0 8 plug

13 04419040 4 plug

14 2.0312.101.2 4 screw m 6 p.1 x 10
16 2.6999.077.0 2 special nut m 5

17 2.1310.002.2 12 flat washer 6.4x12.5
18 2.0330.306.2 2 screwm S x 16

19 0.019.1333.0/10 1 shield sx/Ih/li

20 0.019.6544.0 1 shield

171



K9_V8971_41_0-A-001

7230 TTV Agrotron ->WSXV870200LD50010

Section: LO - ELECTRIC AL SYSTEM Ref: L0.08.7 (1)
PLUGS

Fig. P/n QTY Name

Notes:

[7230 TTV Agrotron ->WSXV870400LD50010]

1 0.019.1337.0 2 plug

1/1



K9_V8785_10_0-A-001

7230 TTV Agrotron ->WSXV870200LD50010

Section: LO - ELECTRIC AL SYSTEM Ref: L0.08.8 (1)
FRONT SIDELIGHTS AND TURN INDICATORS

Fig. P/n QTY Name

Notes:

[7230 TTV Agrotron ->WSXV870400LD50010] 50279 <-

1 2.8059.039.0 2 headlight
- SIDELIGHTS
&= 2.8059.039.0
2 2.8059.530.0 2 headlight

- DIRECTION INDICATOR LIGHTS
&= 2.8059.530.0
&= 2.8059.530.0

1/1



K9_V8785_10_0-A-002

7230 TTV Agrotron ->WSXV870200LD50010

Section: LO - ELECTRIC AL SYSTEM Ref: L0.08.8 (2)
FRONT SIDELIGHTS AND TURN INDICATORS

Fig. P/n QTY Name

Notes:

[7230 TTV Agrotron ->WSXV870400LD50010] -> 50280

1.1 0.019.1330.2/10 2 support
1.2 0.019.1322.0/10 4 ring nut
1.3 0.019.1329.0 2 lamp support
1.4 2.8059.039.0 2 headlight
- SIDELIGHTS
&~ 2.8059.039.0
1.5 2.8059.530.0 2 headlight
- DIRECTION INDICATOR LIGHTS
&~ 2.8059.530.0
&~ 2.8059.530.0
1.6 2.0330.303.2 10 screw m 5x10
1.7 2.0361.407.2 8 screw 4 x 12

1/1



K9_V8771_48_0-A-001

7230 TTV Agrotron ->WSXV870200LD50010

Section: LO - ELECTRIC AL SYSTEM

Ref: L0.08.9 (1)

FRONT DIRECTION INDICATOR LIGHTS SX/LLH/LI - DX/RH/RE

Fig. P/n

QTY Name

Notes:

- EXPORT U.S.A. [7230 TTV Agrotron ->WSXV870400LD50010]

0.020.1202.0
2.1310.006.2
2.1120.006.2
2.0112.315.2
2.1120.002.2
2.1310.001.2
2.8059.535.0

~N AN AW~

N R RN RN

support

flat washer 10.5x21
nutm 10 p.1.5

screw m 10 p.1.5 x 40
self-locking nut m 5
flat washer 5.3 x 10
lamp

& 2.8059.535.0

1/1



K9_V3585_10_0-A-001

7230 TTV Agrotron ->WSXV870200LD50010

Section: LO - ELECTRIC AL SYSTEM Ref: L0.08.10 (1)
FRONT SIDELIGHTS

Fig. P/n QTY Name

Notes:

- EXPORT U.S.A. [7230 TTV Agrotron ->WSXV870400LD50010] 50220 <-

1 2.8059.039.0 4 headlight
&= 2.8059.039.0

1/1



K9_V3585_10_0-A-002

7230 TTV Agrotron ->WSXV870200LD50010

Section: LO - ELECTRIC AL SYSTEM Ref: L0.08.10 (2)
FRONT SIDELIGHTS

Fig. P/n QTY Name

Notes:

- EXPORT U.S.A. [7230 TTV Agrotron ->WSXV870400LD50010] -> 50287

1.1 0.019.1330.2/10 1 support
1.2 0.019.1322.0/10 2 ring nut
1.3 0.019.1329.0 1 lamp support
1.4 2.8059.039.0 2 headlight

&~ 2.8059.039.0
L.5 2.0330.303.2 5 screw m 5x10
1.6 2.0361.407.2 4 screw 4 x 12

1/1



Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/deutz-fahr-7230-ttv-agrotron-tractor-parts-catalogue-manual-instant-download-sn-wsxv870200ld50010-and-up/



